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Serie 2

Berechne die korrekten Losungen

2.1
(=1/=5) — (1/2) = ~(3/10) ~(7/10) 172
(1/=5) + (=1/15) = —(2/15) 4115 —(4/15)
1/6 « (=2/5) = 2/30 ~(2/30) 115
(1/8) : (3/—-4) = —(3/32) —(3/2) —(1/6)
—0,1-(-0,2) = 0,3 0,1 0,1
2.2
14 - (-15) = ~29 1 1
110 + (=150) = —40 ~260 +40
—14 « (=100) = ~140 ~1'400 1'400
14 : (-15) = 14/15 —(14/15) ~14/-15
0,13 — (=0,13) = 0,26 0 -0,13
2.3
9-8-4 = -5 3 -3
—9-8+4= ~12 ~13 3
9+(-8)= 72 27 72
(=1 =1): (~1) = 2 1 -2
—(~4) = 0 4 8
2.4
~1'200 — (-2'000) = ~800 800 ~2'200
2'000 + (-2'000) = 0 4'000 —4'000
~500 : (=1'000) = 1/2 ~1/2 2
—20 « (=40) = ~800 800 8'000
~100 — 100 = 0 ~200 200
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mathbuch 2 | Rechentraining online | Die vier Grundoperationen

Serie 2 (Losungen)

Berechne die korrekten Losungen

2.1
(=1/=5) — (1/2) = ~(3/10) —(7/10) 172
(1/=5) + (-1/15) = —(2/15) 4/15 —(4/15)
1/6 * (=2/5) = 2/30 —(2/30) 115
(1/8) : (3/—4) = —(3/32) —(3/2) —(1/6)
~0,1-(-0,2) = 0,3 0,1 0,1
2.2
14 - (-15) = ~29 1 1
110 + (-150) = —40 ~260 +40
~14 « (=100) = ~140 ~1'400 1'400
14 (-15) = 14/15 —(14/15) ~14/-15
0,13 — (-0,13) = 0,26 0 0,13
2.3
9-8-4 = -5 3 -3
—9-8+4-= ~12 ~13 3
9+(-8)= 72 ~27 72
(=1 =1): (=1) = 2 1 2
4—(—4)= 0 4 8
2.4
~1'200 — (-2'000) = ~800 800 ~2'200
2'000 + (—2'000) = 0 4'000 —4'000
~500 : (-1'000) = 1/2 ~1/2 2
20 « (=40) = ~800 800 8'000
~100 - 100 = 0 ~200 200
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